MATH180C: Introduction to
Stochastic Processes Il

Today: Asymptotic behavior of
renewal processes
Next: PK 2.5, Durrett 5.1-5.2

Week 7:
HW6 due Monday, May 22 on Gradescope

Midterm 2 on Wednesday, May 24



Example : Age replacement policies (PK, p.363)

Xi - lifetime of (-th cQw\Ponevac ’ Fx; ({):F(Jc‘)

Y - times between o lures

N (ﬂ‘; # re?\o(ew\eh*s own (ot ' QAE)= ¢ failuce (Q?\QMMQV\*S on {a§)

Last +ime:

E(NB)
n ~ /‘—L-\- ‘(\0( ‘Q(j-q J(Z,

Q&) renewa process with  intertenewal  Aimes Yo and

F (@)

Ny= LT+ 2 oith P(L}n)=(\-\-_(_\ﬂ“, P(Zez)= ﬁ)



Exomple : Age mplacement policies (PK, p.363)
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Exomple : Age feplacement policies (PK | o 363)
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Two comPovxen'l’ renewals
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Jwo component renewals
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Two component renewals
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